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(1) V2(v3+5)

(2) V2(3+V7)

(3) V3(v3+06)

(4) VE(4V6 + VIY)

(5) +/5(10/10 + 3/15)

6) (V3+5)

(8) (V6+2)(v6-2)

(9) (V6+2) (V6 +5)

(10) (V3+v7)’

(11) (V7+V6) (VT —06)

(12) (VI5-V6)’

(13) (VB+7)(Vh—1)

(14) (3v6+V3) (V2+4)
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(1) V2(v3+5)
V2(V3+V5) =vV2x3+V2x5
=6 +V10

(2) V2(3+V7)
V2B 4+ V7)) = V2 x 34+ V2 x T
=3vV2+ V14

(3) V3(V3+06)
V3(V3+V6) =V3x3+v3x6
=3+3V2

(1) V2(4v/6 + VIB)
V2(4v6 +V18) = 4v/2 X 6 + V2 x 18
=8V3+6

(5) +/5(10/10 + 3/15)

V5(10v/10 + 3v/15) = 10v/5 x 10 + 3v/5 x 15
=50v2 + 15V/3

6) (V3+5)
(\/§+5>2: <\/§)2+2X\/§x5+52

=3+10V3+25
=284+ 10V/3

2)"
( ) o VT x 242

=7 —4JT+4
=11 — 47

® (B (-2
(V6+2) (vo-2) = (@

(7 (V7-
(Vi-2) -

(9) (V6+2) (V6+5)
<\/6+2) (\f6+5) = (f6)2+(2+5)f6+2><5

=6+ 7V6+ 10
=16+ 7V6
(10) (V3+V7)’
(VB+v7) = (VB) +2x VBx vi+ (VA7)
=3+2V21+7
=10 +2v21

(11) (V7+V6) (V7 —6)
(V+V6) (V7= V6) = 7(”)2 (v8)

6

(12) (VI5-V6)’

(VIE—VE) = (VI5) —2x VIs x v+ (VE)
=15—6V10+6
— 21 — 610

(13) (V5+7) (V5—1)
(\/5+7) (\/5—1) = <\/5)2+(7—1)\/5
+ 7% (—1)
—54+6V5 -7
= —2+46V5

(14) (3V6+v3) (V2+4)
(3v6+v3) (V2+4) =36 x 2+ 36 x 4
+V3x2+V3x4
= 6v/3 + 12V6
+V6+ 43
= 10V3 +13V6
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